Semaphore —a more general lock

/ Creating a semaphore
Permits

Semaphore semaphore = new Semaphore(4); (can be negative)

try { Taking the semaphore
semaphore.acquire(); <= (Decrements number of permits)

} catch (InterruptedException e) { (Blocks if there are no permits)

e.printStackTrace();
}

Releasing the semaphore

(Increments number of permits)
semaphore.release();

A semaphore initialized with 1 can be used exactly as a lock
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Semaphore

Semaphore semaphore = new Semaphore(4);
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Vi Semaphore
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e Semaphore
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Semaphore

It does not matter that 2 threads get
to the semaphore at the same time.
Only one can interact with it at a time.
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Semaphore

It does not matter that 2 threads get

to the semaphore at the same time.

Only one can interact with it at a time.
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Semaphore — A different way of thinking
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Semaphore — A different way of thinking

A semaphore has a number of tokens.
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Semaphore — Signaling
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Semaphore — Signaling
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